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import numpy as np
np.__version__

'1.19.5"
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axis 1 'a"y

1 l/Z l/3 l 1] 2¢ 3
4[5[6' 4[5[6

axis 0
axis 0

1[2[3' 7[8[9' 7[8[9

1D array 2D array 3D array

al = np.array([1, 2, 3, 4, 5])

print(at)

print(type(al))

print(al.shape)

print(al[0], a1[1], all[2], al[3], all4])

al[0] = 4
al[1] =5
al[2] = 6
print(al)
[12345]
<c|ass numpy .ndarra S U q n a
(5,
1 2 3 45

(456 4 5]

OF FHII
a2 = np.array([ [1, 2, 3IT5I'!51I'- [ E:| q?-l-
it suan computer laboratory

print(a2[0, 0], a2[1, 1], a2[2, 2])

a3 = np.array([ [ [1, 2, 3], [4, 5, 6], [7, 8, 9] ],

[ [1, 2, 3], [4, 5, 6], [7, 8, 9] 1],

[ [1,2 3], 04,5, 6] [7.8, 9111
print(a3)

print(a3.shape)

[[[123]
[4 5 6]
[7 8 9]]
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zeros(): EEQAE 022 X7|3}

np.zeros(10)

0.1)

0.,

array([0.,

ones(): RE QAE 12 X735}

np.ones((3, 3))

O = X7\

1.23)

np.ful1((3, 3),

o eye(): THR{ &l & (identity matrix) A4
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np.eye(3)

tri():

np.tri(3)
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e empty() [ = S
o X7|§|.7|-

o X7|SHE|X| LOFM 7| =

np.empty(10)

array([0., 0., 0., 0., 0., 0., 0., 0., 0., 0.1)

o _like(): X|HEl i E1} shape?l 22 HE 49
o np.zeros_like()
o np.ones_like()
o np.full_like()
o np.empty_like()
print(al)

np.zeros_like(al)

[456 4 5]
array([0, 0, 0, 0,.0])

print(a2)
np.ones_| ike(a2)

[[12 3]
[4 5 6]
[7 8 9]]
array([[1, 1, 1],
(1, 1, 1,
[1, 1, 111)

print(a3)
np.full_like(a3, 10)

[[[12 3]
[4 5 6]
[7 8 9]]

2 3]
5 6]
8

[
[
[7 8 9]]

y([[[10, 10, 101,
[10, 10, 10],
[10, 10, 10]1,

[[10, 10, 10],
[10, 10, 10],
[10, 10, 10]],
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np.arange(0, 30, 2)

array([ 0, 2, 4, 6,

He LM oS

| inspace() :

np.linspace(0, 1, 5)

array([0. , 0.25, 0.5,

logspace() :

np.logspace(0.1, 1, 20)

array([ 1.25892541;
2.1719114 |
3.74700446,
6.46437163,

1540400425,
2. 42220294,
4117881006,
7.2093272
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8, 10, 12, 14,
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0.75, 1. 1)

15565802 ,
2.701383812,
4.66037703,
8.04013161,

16, 18, 20, 22, 24, 26, 28])

Aol Yo S7t7oE 21 AH YR B M

1.74624535 , «=194748304,
370126409 ,...3.35981829,
5.19743987, 5.79689395,

8.9666781 , 10,
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e random.random(): ZHESH =0| Hf & M

-_

np.random.random((3, 3))

array([[0.19990249, 0.67825836, 0.10779109],
[0.7346601 , 0.30689594, 0.75792887],
[0.74171009, 0.51558448, 0.57027235]])

e random.randint(): €8 FZto| HEH MO HE MM

np.random.randint(0, 10, (3, 3))

array([[8, 6, 1],
[9, 6, 4],
[1, 2, 9]1])

e random.normal () : D=2 (normal distribution)E 122+ HEHDE =0 Hf L MM
o WH-0, HZHX}=1,3x3H|Y

np.random.normal (0, 1, (3, 3))

array([[-0.16581377,,-1.20889354, 1.00129621],
[ 1.11586291, '=1.0667203 , -1.09698263],
[ 0.94083358, -0.48386411, -0.72082802]])

e random.rand(){ @ &= %(aniform-distribution)= 11 2{ 2t 2 Eot =0 H{ < Ao

np.random.rand(3, 3)

array([[0.15118794, 0.4855399 , 0.9954176 |,
[0.7294256 , 0.25704993, 0.8202923 ],
[0.64393415, 0.31162568, 0.56995813]])

e random.randn() : B& HF £ X (standard normal distribution)E 12{¢t S EHSH 20| H| &
A A
[oN o]

np.random.randn(3, 3)
array([[ 0.13979134, -1.65558642, 0.36687287],
1.
1.

[-1.26383156, 0.79869918, 1.75554845],
[-1.51589308, -0.80726229, -1.49484273]])

#7 OO|H Ef

Hlo|Ef EfY ok
bool_ HFO|E 2 X &=l 2|2 (Boolean)2 2 True £+ False 2t 7
int_ 7|2 ¥==(Integer) Et



ool Ete 29

intc C 00 AFEEl= int 2 S (ZEHE2 = int32 EE= int64)

intp QMO AHEE|= ™H (C UM ssize_t S, LHHOZ int32 L= int64)
int8 HEO| E(Byte) (-128 ~ 127)

int16 X 2= (32768 ~ 32767)

int32 4= (2147483648 ~ 2147483647)

int64 ‘d4=(-9223372036854775808 ~ 9223372036854775807)

uint8 22 gl 8= (0~ 255)

uint16 23 gle "= (0~ 65535)

uint32 23 ele H (0 ~ 4294967295)

uinté4 235 9= M= (0 ~ 18446744073709551615)

float16 B Y 28 A =F(Half precision float): £ H| E, 5H| E X|%=, 10H|E 7t
float32 CHY A 25 A 4T(Single precision float): £ H|E, 8H| E X|%, 23H| E 7t
float64 HiH 2 25 24 (Double precision float): £% H|E, 11H|E x|, 52H|E 7t~
float_ floated & EAN BH

complex4 — =AZ=(Complex number), & 7H2| 32H|E & A+TO 2 HH

complex128 ZA4 F IO 64HIE E5 A-HOZ B

complex_ complex128 & E0{A| EH

np.zeros(20, dtype=int)

array([0, 0, 0, 0, 0, 0, O, 0, 0, 0, 0, 0O, O, 0, O, 0, 0O, O, 0, 0])

np.ones((3, 3), dtype=bool)

array([[ True,-2Trué, | Truel;
[ True, True, Truel,
[ True, True, Truell)

np.ful 1 ((3, 3), 1.0, dtype=float)

array([[1., 1.,

3 oo YA A2 ZH Az

y o +9.2¢18 4 [9.2¢18 BC, 9.2e18 AD]
U +7.6e17 [7.6e17 BC, 7.6e17 AD]
e +1.7e17d [1.7€17 BC, 1.7e17 AD]
o ¢ +2.5e16 [2.516 BC, 2.5¢16 AD]
h Al +1.0e15d [1.0e15 BC, 1.0e15 AD]
moo= +1.7e13 & [1.7€13 BC, 1.7e13 AD]
s = +29e12d [2.9¢9 BC, 2.9¢9 AD]



3ac o|oj SO AIZHESR O AZHES
ms  ZE[E +2.9e9 H [2.9e6 BC, 2.9e¢6 AD]
us OFOJAZX +29e6 [290301 BC, 294241 AD]
ns  Lbex +292 A [ 1678 AD, 2262 AD]
ps OIAX +106 ¥ [ 1969 AD, 1970 AD]
fs HEX +2.6 A|ZH [1969 AD, 1970 AD]
as OfEX +92 % [1969 AD, 1970 AD]

date = np.array('2020-01-01"', dtype=np.datetime64)
date

array('2020-01-01', dtype='datetime64[D]")

date + np.arange(12)

array(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-04"',
'2020-01-05"', '2020-01-06', '2020-01-07', '2020-01-08',
'2020-01-09', '2020-01-10', '2020-01-11', '2020-01-12'],

dtype='datetime64[D]")

datetime = np.datetime64(+2020=06-01 12:00")
datetime
numpy .datet ime64('2020-06=01T12:00")
datetime = np.datet ime64('2020-06-01=12+00:12.34' 'ns')

datetime

numpy .datet ime64( ' 2020-06-017T12:Q0% 12, 340000000 *)

v HiE =2

v HE@ Hd Z=

def array_info(array):
print(array)
print("ndim:", array.ndim)

(
print("shape:", array.shape)
print("dtype:", array.dtype)
print("size:", array.size)
print("itemsize:", array.itemsize)
print("nbytes:", array.nbytes)

(

print("strides:", array.strides)

2 __ /7 _ 2



v

darray_inroldal)

[456 4 5]
ndim: 1
shape: (5,)
dtype: int64
size: 5
itemsize: 8
nbytes: 40
strides: (8,)

array_info(a2)

[[12 3]

[4 5 6]

[7 8 9]]
ndim: 2
shape: (3, 3)
dtype: int64
size: 9
itemsize: 8
nbytes: 72

strides: (24, 8)

array_info(a3)

[[[1 23]
[4 5 6]
[7 8 9]]

[[123]
(4 5 6]
[7 8 9]]

[[12 3]
[4 5 6]
(7 8 9]1]

ndim: 3

shape: (3, 3,

dtype: int64
size: 27

itemsize: 8
nbytes: 216

strides: (72,

o1&l M (Indexing)

—

print

1)

print(ai[0])

print(al[-1])
print(al[-2])

(a

(
print(ai[2])

(

(

[456 4 5]
4
6

Ssuanlab

0|40t ZHTE] B

suan computer laboratory
3)

24, 8)



print(a2)

(a

print(a2[o,
print(a2[o0,
print(a2[1,
print(a2[2,

0l)
2])
11)
-11)

[[12 3]
[4 5 6]
[7 8 9]]

O o1 W —

print(a3)

print(a3[o0,

print(a3[1,

print(a3[2,
(

print(a3[2,

O 0l)

1)
2 2])
-1, -1])

Ssuanlab

1, 0|40t ZBE] G174

[7 8 9]]
wea SUAN computer laboratory
[7 8 9]1]
;
9
9
£2}0]-d(Slicing)

o £2t0]d T+&: a[start:stop:step]
o 7|23} start=0, stop=ndim, step=1

print(al)

print(al[0:2])
print(alf0:])

print(atl[::2])
print(at[::=1])

(a

(

(
print(at[:1])

(

(

(456 4 5]



print(ai)
= [False, True, True, False, True]
print(a1[bi])
= [True, False, True, True, False]
pr|nt(a1[bi])

(4
(5
(4

print(a2)

bi = np.random.randint(0, 2, (3, 3), dtype=bool)
print(bi)

print(a2[bil)

[[12 3]
[4 5 6]
[7 8 9]]

[[ True False Truel
[ True False False]
[False True True]]

[13489]



I A| Q1= A (Fancy Indexing)

print(at)

print([al[0], al[2]])

ind = [0, 2]

print(ailind])

ind = np.array([[0, 1],
[2, 011)

print(allind])

456 4 5]
4, 6]

4 6]

(4 5]

(6 4]]

[
[
[
[

print(a2)

row = np.array([0, 2])
col = np.array([1, 2])
print(a2[row, col])
print(a2[row, :])
print(a2[:, coll])

print(a2frow, 1:])

(

(

(
print(a2[row, 1]) Sua nla b
print(a2[2, col])

(

(

print(a2[1:, col]) Ol |- ;n-I'IJ;I'E:| (a;i

1 suan computer laboratory
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e insert():HiES| £ {X|0f gt &
o axisE X|HSIX| YO ™ 1K HHEZE Hel
o F7I HIGES axisE K|

o A= HIE HZGIO| =2 HiE Htet
print(at)
b1 = np.insert(atl, 0, 10)
print(b1)
cl =np.insert(al, 2, 10)
print(ct)
[456 4 5]
[10 4 5 6 4 5]
[4 510 6 4 5]
print(a2)
b2 = np.insert(a2, 1, 10, axis=0)
print(b2)
c2 = np.insert(a2, 1, 10, axis=1)
print(c2)
[[12 3]
[4 5 6]
[7 8 9]]
([ 1 2 3]
[10 10 10]
[4 5 6]
[ 7 8 9]]
[l 110 2 3]
[ 410 5 6]
[ 710 8 9]1
v HiE 4 =78
. ™o QIE A o2 FHIsH0! 2t 7

i =np.array([1, 3, 4])
allil =0

print(at)

alli] += 4

print(at)

[
[
[
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[90300]
[9 43 4 4]
print(a2)
a2[0, 0] = 1
a2[1, 1] =2
a2[2, 2] =3
a2[0] = 1
print(a2)
a2[1:, 2] =9
print(a2)
row = np.array([0, 1]
col = np.array([1, 2]
a2[row, col] =0
print(a2)
[([111]
[4 2 9]
[7 8 9]]
(11 1]
[4 2 9]
[7 8 3]]
[[111]
[4 2 9]
[7 8 9]]
[[10 1]
[4 2 0]
[7 8 9]]

Hi € 2t A A

o o=
AR )% Y

print(at)
b1 = np.delete(al, 1)
print(b1)
print(at)

[9 43 4 4]

[9 3 4 4]

[9 43 4 4]
print(a2)
b2 = np.delete(a2, 1,
print(b2)

c2 = np.delete(a2, 1,
print(c2)

[[10 1]

)
)

delete(): HIEo| £ {X[0f 2t A
axisE X|SHK| Yo H 1K HiE = et
AR WS axis2 XY

—_

Q0| |22 HiQ di=zt

—

axis=0)

axis=1)



. 2|AE XIEYI 2| HYBO| 2E}0| AL 2AHZO| OFY

print(a2)
print(a2[:2, :2])
a2_sub = a2[:2, :2]
print(a2_sub)
a2_sub[:, 1] =0
print(a2_sub)
print(a2)

O O — — — — O O —
—

—

~Nhs N NN
DO OO OO OO O oo

[a——

* copy(): HiEO[L} o} 7| HH B LHC| &XS AH 22 ZAt

print(a2)

a2_sub_copy = a2[:2, :2].copy()
print(a2_sub_copy)
a2_sub_copy[:, 1] = 1
print(a2_sub_copy)

print(a2)

— —
O O —
—

,_|
[a——

[do I @ JryE—"

—
— e, — —

~Nhs N NN
DO <+ 4~ OO0 oo

pa—




- Hj S Eis

v Hi<

rx

ANA=EE

print(a2)
print(a2.T)

[

[
[
[
([l
[
[

Y o S U N
OO M~ OO
O 00 NO O —

print(a3)
print(a3.T)

[[[123]
[4 5 6]

o Ssuanlab

[4 5 6]

T oot #EE A

7ssn SUQN computer laboratory

[0 1 1]
[4 4 4]
177 711

[[2 2 2]
[5 5 5]
(8 8 8]]
[[3 3 3]

(6 6 6]
[9 9 9]]]

print(a2)
print(a2.swapaxes(1, 0))

(
]

L O N D
OO SO0 OO
©O© 00 NO O —

]
]
]
]
]
]

—
— e —

]

print(a3)

PR Y (PN 2 PRI 4 4\



prInLNdo. swdpdxes\uv, 1))
print(a3.swapaxes(1, 2))

[[4 5 6]
(4 5 6]
[4 5 6]]

[l
[
[
(LI
[
[
[ ]
[ ]
[ ]
([147]

[2 5 8]
[369]]]

v HE M=)

e reshape(): HiEo| A S H

ni = np.arange(1, 10)
print(ni)
print(ni.reshape(3, 3))

[
[

234567 89]
3]
6]
9

1

[1
(4
[7 8 911

o O N

e newaxis(): ME2 = F7}

print(ni)
print(ni[np.newaxis, :5])
orint(nil:5. no.newaxisl)
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n2.resize((3, 3))

print(n2)
[[0 4 9]
(8 2 5]
[7 4 6]]

- B 7}



e append(): HiE2| E0f gt =7}

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)
b2 = np.arange(10, 19).reshape(3, 3)
print(b2)

[[123]
5 6]
8 9]]
0 11 12]
3 14 15]
6 1

1
4
7
1
1
16 17 18]]

[
[
[
([l
[
[

o axis X[ O Gl 1A Hi 2 B2 HAEO 2T

— =

0

c2 = np.append(a2, b2)
print(c2)

[1 2 3 45 6 7 8 910 11 1213 14 15 16 17 18]

e axisE 022 X|H
« shape[0]2 N 2/St LIHA| shape &O0}Op&f

c2 = np.append(a2, b2, axis=0)
print(c2)

[

e axisE 12 X|d
e shape[1]2 X 2|2t LFHX| shape= & O}OfF &

c2 = np.append(a2, b2, axis=1)

print(c2)
[[1 2 310 11 12]
[4 5 6 13 14 15]
[ 7 8 9 16 17 18]]

e concatenate(): FEO|L} H{EQ| 2|AEE Q-2 AFES

H BH

o:|
=

o

Z



al = np.array([1, 3, 5])
np.array([2, 4, 6])
np.concatenate([al, b1])

O
1l

array([1, 3, 5, 2, 4, 6])

cl =np.array([7, 8, 9])
np.concatenate([al, b1, c1])

array([1, 3, 5, 2, 4, 6, 7, 8, 9])

a2 = np.array([[1, 2, 3],
(4, 5, 6]])
np.concatenate([a2, a2])

[1 :
[4, :
[1, :
[4 1)

D W O W

]
]
]
]

o1 N O O

a2 = np.array([[1, 2, 3],
(4, 5, 6]])
np.concatenate([a2, a2], axis=1)

array([[1, 2, 3, 1, 2, 37,
(4, 5, 6445 5,:6]1])

N

o vstack(): =& AEH(vertical stack), 1At = H A

np.vstack([a2, a2])

(G2l G I )

[1
[4,
(1,
[4

o hstack(): =8 AEH(horizontal stack), 2XI 22 &

np.dstack([a2, a2])

array([[[1, 1],



(2, 2],
(3, 311,

4, 4],
(5, 5],
6, 6111)

o stack(): ME2 XY Z AHAZA

np.stack([a2, a2])

array([[[1, 2, 3],
4, 5, 6]1],

({1, 2, 3],
(4, 5, 6]11)

== 57 suanlab
EEIZLS“”“ " QO HFLE] G114
s Skl@an computer laboratory

56789]
4 5] [67] [89]

—_—
—_— —

o vsplit(): =2 28 1Xtelo 2 23t

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

b2, c2 = np.vsplit(a2, [2])
print(b2)

print(c2)

[

Ns NN
co O1 N o O N
O oW WwoWw

[
[
[
([l
[
([l

[N

P T R A | ANY v AAblhAnA~lN N\



dc — lip.didiigel i, 1U).lesliidpelo, 9)
print(a2)

b2, ¢2 = np.hsplit(a2, [2])
print(b2)

print(c2)

[[123]
(4 5 6]
[7 8 9]]

[[1 2]

(4 5]
[7 811

[[3]

(6]
(911

rio

o dsplit(): Z0| &%, 3kt

oz gy

a3 = np.arange(1, 28).reshape(3, 3, 3)
print(a3)

b3, ¢3 = np.dsplit(al3, [2])

print(b3)

print(c3)

Ssuanlab

543 Oj-0t HBE] A1

[16 17 18]]

e 2020 SUAN computer laboratory

[22 23 24]

[25 26 27]1]]
[[[1 2]

[ 4 5]

[ 7 8]]

[[10 11]
[13 14]
[16 17]]

[[19 20]
[22 23]
[25 26]]]

[[[ 3]
[ 6]
[ 9]]

[[12]
[15]
[18]]

[[21]
[24]
(27111



v H < AHAF

—

o NumPy2| Hj &l ¢IAFS HilE{St(vectorized) ¢ AHS AL
o YHIX O Z NumPy2| H-& &<=(universal functions)ES S8 T+
o A A

o HiE 2240 ot H=H0 A4S 288z &Y

v B2 EIfAEl(Broadcasting)

1023 + |5 = |6l 7

12| 3 1121 3 21|l 4
+ |a4||5| 6 = |5 7
7181 9 8 |10
| |
1 21 3
ﬂ+ rall e —
tel | Atiar

al = np.array([1, 2, 3])
print(al)
print(al + 5)

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)
print(al + a2)

b2 = np.array([1, 2, 3]).reshape(3, 1)
print(b2)
print(al + b2)
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A LE(Arithmetic Operators)

A MK} HE st ad
1 np.add oAl
= np.subtract i
- np.negative Chat S
* np.multiply =4
/ np.divide L
// np.floor_divide Ltz LHZ!
*k np.. power X4 AL
% np.mod LIHX| A A
al = np.arange(1, 10)
print(al)
print(al + 1)
print(np.add(al, 10))
print(al - 2)
print(np.subtract(aiy™0))
print(-at)
print(np.negative(al))
print(al = 2)
print(np.multiply(atl, 2))
print(al / 2)
print(np.divide(at, 2))
print(al // 2)
print(np.floor_divide(al, 2))
print(al = 2)
print(np.power(at, 2))
print(al % 2)
print(np.mod(at, 2))
(1234567 809]
[2 3 456 7 8 910]
[11 12 13 14 15 16 17 18 19]
-1 01 2 3 45 6 7]
[-9 -8 -7 6 -5 —4 -3 -2 —1]
[-1 -2 -3 -4 -5 6 -7 -8 9]
[-1 -2 -3 -4 -5 6 -7 -8 9]
[2 4 6 810 12 14 16 18]
[2 4 6 810 12 14 16 18]
[0.51. 1.52. 2.53. 3.54. .51
[0.51. 1.52. 2.53. 3.54. .51
[011223344]
[011223344]
[ 1 4 916 25 36 49 64 81]



al = np.arange(1, 10)

print(al)
b1 = np.random.randint(1, 10, size=9)
print(b1)
print(al + b1)
print(al - bt)
print(al = bi)
print(al / b1)
print(al // bi)
print(al ** bi)
print(al % bt)
[1234567809]
[38256332 3]
[ 4 10 5 911 9 10 10 12]
[26 1-1-1 3 4 6 6]
[ 316 620 30 18 21 16 27]
[0.33333333 0.25 1.5 0.8
2.33333333 4. 3. ]
[00100224 3]
[ 1 256 9 1024 15625 216 343
[121450100]

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

b2 = np.random.randing( 1, “107"size=(3, 39
print(b2)

print(a2 + b2)
print(a2 - b2)
print(a2 * b2)
print(a2 / b2)
print(a2 // b2)
print(a2 = b2)
print(a2 % b2)

— e e e
fa—

WPrArWNOPM, =~ DMOOW

.33333333 0.75 ]
6. ]
2.25 ]

~
~
~
~
~
~
—LF\DO
CDOTOO

0.83333333 2.

64

729]



[[100]
[0 2 6]
[112]]

[[ 1 64 81]
(262144 25 6]
(823543 32768 6561]]

([0 23]

(4 10]
[0 3 1]]

v HE gt 2=(Absolute Function)

e absolute(), abs(): LA =l HCH4f et

al = np.random.randint (=10, 10, size=5)
print(at)

print(np.absolute(al))
print(np.abs(atl))

[ ]

[-3-2 1-7 6]
321
[321

6
6

—_—

217
217
v MN&/Mass g
e square, sgrt: M&,Ha2 e
print(at)

print(np.square(at))
print(np.sart(ai))

[-3-2 1-7 6]

[ 9 4 149 36]

[ nan nan 1. nan 2.44948974]
/usr/local/lib/python3.6/dist—packages/ipykernel_launcher .py:3: RuntimeWarning: invalid valu

This is separate from the ipykernel package so we can avoid doing imports until

v X|#=2} 21 34 (Exponential and Log Function)

al = np.random.randint(1, 10, size=5)
print(ai)

print(np.exp(at))

print(np.exp2(ai))

print(np.power (al, 2))

(6 824 3]
[ 403.42879349 2980.95798704  7.3890561 54.59815003  20.08553692]

[ 64. 256. 4. 16. 8.]
[36 64 4 16 9]

orint(al)



brinf&hpllog(a1))
print(np.log2(ai))
print(np.log10(at))

(6 8243]
[1.79175947 2.07944154 0.69314718 1.38629436 1.09861229]
[2.5849625 3. 1. 2. 1.5849625]

[0.77815125 0.90308999 0.30103 0.60205999 0.47712125]

v 282} gh==(Trigonometrical Function)

g MdE
np.sin( array ) 24 Aol
np.cos( array ) QA ¥ AR
np.tan( array ) 24 HENE
np.arcsin( array ) 24 =8 of3 AR
np.arccos( array ) QA ¥ o3 AALR!
np.arctan( array ) 24 g0t EHE
np.arctan2( array1, array2 ) R4 # 03 EHFIE array1 / array2
np.sinh( array) 24 Hsto|mE2 AQl
np.cosh( array ) 24 50| ZE FAR
np:tanh( array ) 24 Ho|E8 BHHE
np.arcsinh( array.) 24 4 50| =& Of=L ALl
np.arccosh( array ) 24 E50|HZ2 or3 F AR
np.arctanh( array ) 24 EHSH0|E B0 S T E
np.deg2rad( array ) QATEZE 0| M 2frC|of Bt
np.rad2deg( array.) 224 H 20| 0j| A 2H e et
np.hypot(arrayl, array2) =~ Rz 8 RS 2T 2| A

t = np.linspace(0, np.pi, 3)
print(t)

print(np.sin(t))
print(np.cos(t))
print(np.tan(t))

(0. 1.57079633 3.14159265]

[0.0000000e+00 1.0000000e+00 1.2246468e-16]

[ 1.000000et00 6.123234e-17 —1.000000e+00]

[ 0.00000000e+00 1.63312394e+16 —1.22464680e—16]

x =[-1, 0, 1]
print(x)
print(np.arcsin(x))
print(np.arccos(x))
print(np.arctan(x))

= o/ o= o=

(-1, 0, 1]

[-1 57079633 0. 1.57079633]
[3.14159265 1.57079633 0. ]
[-0.78539816 0. 0.78539816]



SE

st==(Aggregate Functions)

v
g NaN ¢t R E a9
np.sum np.nansum 2240 gt A At
np. cumsum np. nancumsum QA0 =X &
np.diff N/A QA0 AHE
np.prod np.nanprod A0 & At
np.cumprod np . nancumpr od QAN FH
np. dot N/A & & (dot product)
np.matmul N/A =
np.tensordot  N/A Hl A & (tensor product)
np.cross N/A Bl B & (cross product)
np. inner N/A L& (inner product)
np.outer N/A 2| (outer product)
np.mean np.nanmean QA0 Ha ALt
np.std np.nanstd HEZE HKXL A A
np.var np.nanvar =4 A A
np.min np..nanmin EENTA
np . max np . nanmax | CHgt
np.argmin np.nanargmin K| Ag) QIEA
np.argmax np . nanar giax Z|CH gt QLB
np.median np . nanmed an by
np.percentile  np.nanpercentile K40 &2 7[HH HEL| =7
np lany. N/A RASIRINA=EA
np.all N/A DE AT EOIX| It
v sum(): 2 ALt

a2 = np.random.randint(1, 10, size=(3, 3))

print(a2)

print(a2.sum(), np.sum(a?2))

(
(

print(a2.sum(axis=0), np.sum(a2, axis=0))
(

print(a2.sum(axis=1), np.sum(a2, axis=1))

[[2 3 6]
[317]
(96 7]]

44 44

[14 10 20] [14 10 20]
(11 11 22] [11 11 22]

v cumsum(): =& &

N, /NN

At



printiaz)
print(np.cumsum(a2))
print(np.cumsum(a2, axis=0))
print(np.cumsum(a2, axis=1))

4 15 22 31 37 44]

print
print
print
print

np.diff(a2))
np.diff(a2, axis=0))
np.diff(a2, axis=1))

NSNS

O w N
D — W

— O WOIN =0 WO

— e e e e — o —

AWMN — O — W —

[a—

— —

11

L
=
—

fa—

prod(): & Al At

print(a2)
print(np.prod(a2))
print(np.prod(a2, axis=0))
print(np.prod(a2, axis=1))

[[2 3 6]
[317]
[9 6 7]]
285768
[ 54 18 294]
[ 36 21 378]

cumprod(): & & A4t

print(a2)

nrint{nn riimnrad(a2))



M THIUNTIMN . VUM U\ U g
print(np.cumprod(a2, axis=0))
print(np.cumprod(a2, axis=1))

6 36 108 108 756 6804 40824 285768]

print(a2)

b2 = np.ones_|ike(a2)
print(b2)
print(np.dot(a2, b2))
print(np.matmul (a2, b2))

—

,_|
[—

.—..—..—..—..—..—..—..—..—..—.
L L O = W

N_L_L_L_L_.\j\]oj

[

|\)_L_L_L_L_L©Q)|\)

N — ——

11 11]

1 11]
22 2]]
([ 1]
[1 11 11]

[22 22 22]]
v tensordot(): HIAM S A 4t

print(a2)

print(b2)

print(np.tensordot (a2, b2))

print(np.tensordot(a2, b2, axes=0))
(

print(np.tensordot(a2, b2, axes=1))

[

]
[

— —~ L O WM

3
1
6
1
1
1

—_ e NN

]
]
]
]
]
]

— r—,————

]
44
[[[[2 2 2]
[2 2 2]
[2 2 2]]



[[333]
[3 3 3]
[3 3 3]]

[[6 6 6]
(6 6 6]
(66 6]]]

[[[3 3 3]
[3 3 3]
(3 3 3]]

(01 11]
[111]
[111]]

[[7 7 7]
(77 7]
(77 7111

[[[99 9]
[9 9 9]
[9 9 9]]

i <> suanlab

[[777]

(77 7] 1T
%1571? ﬂi” Ol I- ;ﬂ-l-lTE:l E?‘i
111 11

=221 SUAN computer laboratory
v cross(): HE&

x = [1, 2, 3]
y = [4, 5, 6]
print(np.cross(x, vy))

[-3 6 -3]
v inner()/outer(): LH&/2|H

print(a2)
print(b2)
print(np.inner(a2, b2))
print(np.outer(a2, b2))

[[2 3 6]
[317]
[9 6 7]]
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v mean(): B

a2)

np.mean(a2))
np.mean(a?2, axis=0))
np.mean(a2, axis=1))

print
print
print
print

= o= o= o=

[[2 3 6]
[317]
(96 7]]
4.888888888888889
[4.66666667 3.33333333 6.66666667]
[3.66666667 3.6666666747 .33333833]

v std(): BT HA 7Lt

print(a2)
print(np.std(a2))
print(np.std(a2, axis=0))
print(np.std(a2, axis=1))

[[2 3 6]
[317]
[9 6 7]]
2.5579698740491863
[3.09120617 2.05480467 0.47140452]
[1.69967317 2.49443826 1.24721913]

np.var(a2))
np.var (a2, axis=0))
np.var (a2, axis=1))

print
print
print

NN

[[2 3 6]



[317]
(96 7]]
6.54320987654321
[9.55555556 4.2222020202 ().222220222]

[2.88888889 6.22222222 1.55555556]

v min(): X2k

a2)

np.min(a2))
np.min(a2, axis=0))
np.min(a2, axis=1))

print
print
print
print

NN

[[2 3 6]
[317]
[9 6 7]]

1

(2 1 6]

(2 16]

v max(): Z[CHgL

a2)

np.max(a2))
np.max(a2, axis=0))
np.max(a2, axis=1))

print
print
print
print

NSNS

[[2 3 6]
[317]
(96 7]

[a—

v argmin(): Z|2&gf QIEIA

print(a2)
print(np.argmin(a2))
print(np.argmin(a2, axis=0))
print(np.argmin(a2, axis=1))

[[2 3 6]
(3 17]
(9 6 7]]



a2)

np.argmax(a2))
np.argmax(a2, axis=0))
np.argmax(a2, axis=1))

print
print
print
print

NSNS

[[2 3 6]
[317]
[9 6 7]]

6
[2 2 1]
[2 2 0]

v median(): &4t

print(a2)
print(np.median(a2))
print(np.median(a2, axis=0))
print(np.median(a2, axis=1))

([l
[
[

o — w
~N~ o

]
]
]

O O W

6.
[3.3.7.]
[3.3.7.]

v percentile(): Y22

Interpolation. methods for lista[0-1 2. 3]

31 — Tinear y"
== higher L.
E _— In:nwert
- Mearss
E 74 i s —
S —- midpoint | ™
T
1=
E
[
=
a 17 TTT T
4
|:|_
T T T T
0 20 40 &0
Percentile

al = np.array([0, 1, 2, 3])
print(al)

print(np.percentile(al, [0, 20, 40, 60, 80, 100],
print(np.percentile(al, [0, 20, 40, 60, 80, 100],
print(np.percentile(atl, [0, 20, 40, 60, 80, 100],
print(np.percentile(al, [0, 20, 40, 60, 80, 100],
print(np.percentile(al, [0, 20, 40, 60, 80, 100],

T
ao 100

interpolation="'linear"'))
interpolation="higher "))
interpolation="lower"'))
interpolation="'nearest'))
interpolation="midpoint"'))



v any()

a2 = np.array([[False, False, False],
[False, True, Truel,
[False, True, Truell)

a2)

np.any(a2))

np.any(a2, axis=0))

np.any(a2, axis=1))

print
print
print
print

= o= o= o=

[[False False Falsel
[False True True]
[False True True]]

True

[False True Truel

[False True True]

v all()

a2 = np.array([[False, False, Truels
[True,. True, Jruel,
[False) ‘Frue/) Truel])

print(a2)

print(np.all(a2))

print(np.all(a2, axis=0))

print(np.all(a2, axis=1))

[[False False Truel
[ True True True]
[False True Truell

False

[False False True]

[False True False]

v H| W ALH(Comparison Operators)

A4kxp Hm HE g
= np.equal

I= np.not_equal

< np. less

<= np. less_equal

> np.greater



El
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%
+

al = np.arange(1, 10)
print(ai)

print(al == 5)
print(al !=5)
print(al < 5)
print(al <= 5)
print(al > 5)
print(al >= 5)

[1234567809]

[False False False False True False False
[ True True True True False True True
[ True True True True False False False
[ True True True True True False False
[False False False False False True True
[False False False False True True True

a2 = np.arange(1, 10).reshape(3, 3)

print(

print(np
print(np
print(np
print(np
print(np.
print(np.
print(np.
print(np
print(np
print(np
print(np

a2)

.sum(a2))

.count_nonzero(a2 > 5))

.sum(a2 > 5))

.sum(a2 > 5, axis=0))
sum(a2 > 5, axis=1))
any(a2 > 5))
any(a2 > 5, axis=0))

any(a2 > 5, raxis=1))

.all(a2 > 5))

.all(a2 > 5, axis=0))

.all(a2 > 5 caxis=t1))

[ True True True]
[False True True]
False

[False False False]
[False False True]

Hlw HE

og

A
s

False Falsel]
True Truel
False False]
False Falsel]
True Truel
True Truel

CL

np.isclose B =747t (z*1e+02)% L2IZ 717712

no.isinf Hf 20| infO| ™ True, OfL| ™ False

np.isfinite HYZ 0| inf, nanO| ™ False, OtL|H True

np. isnan HY 20| nanO| ™ True, OfL| ™ False

al = np.array([1, 2, 3, 4, 5])

™ True, OFL|H False



print(at)

b1 = np.array([1, 2, 3, 3, 4])
print(b1)

print(np.isclose(al, bi))

2
2
True True True False Falsel

al = np.array([np.nan, 2, np.inf, 4, np.NINF])
print(ai)

print(np.isnan(at))

print(np.isinf(at))

print(np.isfinite(al))

[ nan 2. inf 4. -inf]

[ True False False False False]
[False False True False True]
[False True False True False]

=2 A ALK (Boolean Operators)

HMXL HWHE

%

A
T

& np=bi twise.and
| np.bitwise or
" np.bitwise_xor

= np.b itwise_not,

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

print((a2 > 5) & (a2 < 8))
print(a2[(a2 > 5) & (a2 < 8)])

print((a2 >5) | (a2 < 8))
print(a2[(a2 > 5) | (a2 < 8)])

print((a2 > 5) ~ (a2 < 8))
print(a2[(a2 > 5) ~ (a2 < 8)])

print(~(a2 > 5))
print(a2[~(a2 > 5)1])

[[12 3]
[4 5 6]
[7 8 9]]

[[False False Falsel
[False False True]
[ True False False]]

[6 7]

[[ True True Truel
[ True True True]
[ True True Truell

[1234567809]



- Hig

[[ True True Truel
[ True True False]
[False True True]]
[1234589]

[[ True True Truel
[ True True False]
[False False False]l

[12345]

=
g2

al = np.random.randint(1,
print(at)
print(np.sort(at))
print(ai)

pri

print(al)
print(al.sort())
print(al)

(

(
nt(np.argsort(at))

(

(

(

sicikci
O O O NN O
WMNWwWww
W WwWwww
OB~ O OO0
o1 O O O On
(o)l e)Ie) eI e}
O O O N ©o
N — N N
2, 2400 N

None
22335567 909]

a2 = np.random.randint(1,
print(a2)
print(np.sort(a2, axis=0)|
print(np.sort(a2, axis=1))

<
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e partition(): B EOA k70| &2 4f

—

—
()}

PR

— —

—
—, e, — —

NO1TWOoOTWWWOow
WOrTWNwMNhMND N W

DN O O

oz
Il

al = np.random.randint(1,
print(al)
print(np.partition(al, 3))

(79811557 15]
[1115559787]

10, size=10)

10, siZe=(3, 3))

10, size=10)

o uie
(= dhet

—



a2 = np.random.randint(1, 10, size=(5, 5))
print(a2)

print(np.partition(a2, 3))
print(np.partition(a2, 3, axis=0))
print(np.partition(a2, 3, axis=1))

[[5699 1]
[13395]
(687 18]
[977909]
(456 4 3]]
[[15699]
[13359]
[16788]
[77999]
[4 345 6]]
[[13311]
(456 4 3]
(5679 5]
(6779 8]
[98999]]
[[15699]
[133509]
[167 8 8]
[77999]
[4 3 456]]
ol ==
- HiE =8
oy 293 LYSsF
fip-save() NumPy Hi € 24K 17HE ZFLof), & & HI-O} L 2|
np.savez() NumPy Hi € 21K Of2{7HE T of| M7 Hio|LH 2]
np. load() NumPy Bi g ME A= 2 H A5 2T HO|HZ|
np. loadixt() EIAE IUAZEE HIY 2E HAE
np.savetxt() EAE IFAO| NumPy Hi S ZiK| & HAE

a2 = np.random.randint(1, 10, size=(5, 5))
print(a2)
np.save("a", a2)

[

TN
N O OO NN
~N OO W~
010 OO O1 W
SNAEO

I'ls

a.npy sample_data

b2 = np.random.randint(1, 10, size=(5, 5))
print(b2)



np.savez("'ab", a2, b2)

[

oo~ o1 o
SN o R
© ~ 0 W
N~ — N
AL X

ab.npz a.npy sample_data

npy = np.load("a.npy")
print (npy)

[

©CooN o
~AOON
NS W
oo o 0w
LN~

npz = np. load("ab.npz")
print(npz.files)
print(npz['arr_0'])
print(npz['arr_1'])

-
—

arr_1']

—_——

o T mo0oN oY
OO PO —-D>OOMNN
O© N0 WO NOITOoWw~NO

6
4
5
7
3
8
6
3
7
4

NN —=wWMNO1TO O O W -

[a——

print(a2)
np.savetxt('a.csv"', a2, delimiter=",")

[

©WooN o
A OO®N N
~N O e W~
oo oW
LN~

ab.npz a.csv a.npy sample_data

lcat a.csv

5.000000000000000000e+00, 7.000000000000000000e+00, 7.000000000000000000e+00, 3. 000000000000000



2.000000000000000000e+00, 2.000000000000000000e+00, 3.000000000000000000e+00, 5. 000000000000000
9.000000000000000000e+00, 6.000000000000000000e+00, 6.000000000000000000e+00, 6..000000000000000
9.000000000000000000e+00, 9.000000000000000000e+00, 5.000000000000000000e+00, 6. 000000000000000
9.000000000000000000e+00, 4 .000000000000000000e+00, 7. 000000000000000000e+00, 5. 000000000000000

»

csv = np. loadtxt("a.csv", delimiter=",")
print(csv)
[[6.7.7.3.6.]
[2. 2. 3. 5. 4.]
[9. 6. 6. 6. 5.]
[9. 9. 5. 6. 7.]
[9. 4. 7. 5. 3.1]
print(b2)
np.savetxt('b.csv", b2, delimiter=',", fmt="%.2e', header='c1, c¢2, ¢c3, c4, c5')
[[81828]
[59 3 3 6]
[14813]
[59777]
(8592 4]]
Icat b.csv

# c1, c2, c3, c4,.ch

8.00e+00, 1.00e+00,8.00e+00, 2.00e+00, 8. 00e+00
5.00e+00,9.00et00, 3.00e+00, 3.00e+00, 6. 00e+00
1.00e+00,4.00e+00, 8 '00e+00 ;1. 00e+00+3. 00e+00
5.00e+00,9.00e+00,7.00e+00,7.00e+00,7.00e+00
8.00e+00,5.00et00, 9 00e+00;2 s00e+00;4:.00e+00

csv = np.loadtxt("b.csv", delimiter=",")
print(csv)

A
© N> ®o
R
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e NumPy, https://numpy.org/
e Jake VanderPlas, "Python Data Science Handbook", O'Reilly
* Wes Mckinney, "Python for Data Analysis", O'Reilly


https://numpy.org/
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